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Rational * The consumer is assumed

Consumer to be rational |
N S

Two CGoods * Consumer spend his entire
income on two goods.

A

Ordinal

* Ordinal measurement of

utility can be possible.
B

measurement of
\ utility

Contd.




. * MRS of one commodity for
Dlmlmshmg the other decreases as

MRS consumer purses more and
more units of the former

/

. * Consumer 1s consistent
Consmtency in his choice.

- If A>B, then B<A

* Consumers preferences are

Transitivity transitive.
 If A>B and B>C, then A>C
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PROPERTIES OF INDIFFERENCE CURVE

The slope of the curve is negative, downward
sloping and from left to right. To be indifferent to all
the combinations on an indifference curve consumer

must leave less units of goods Y in order to have more of
good X

A higher indifference curve to the right of another

represents a higher level of satisfaction and preferable
combination of the two goods.

In between two indifference curves there can be a
number of other indifference curves, one for every point
1n the space on the diagram.
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The indifference Curve can neither touch
nor intersect each others.
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Indifference curves are convex to the point of
origin. It means that as the amount X i1s increased
by equal amounts that of Y diminishes by smaller
amounts.
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Indifference curves are not necessarily parallel to
each other.




An indifference curve
cannot touch either axis.




